Earth Science Quiz-2
1.  As the rate of cooling increases, the size of the crystals that form ________.


A) increases
B) decreases
C) is not affected
D) none of these

2. Which one of the following is an igneous rock?


A) limestone
B) rhyolite

C) slate
D) shale

3. Intrusive rocks ________.


A) are generally fine-grained
B) form at Earth's surface



C) are quite often vesicular
D) none of the above

4. Granite and gabbro ________.


A) have a similar mineral composition
B) have a similar texture


C) both A and B



D) are in no way similar

5.  Rocks that contain crystals that are roughly equal in size and can be identified with the unaided eye are said to exhibit a ________ texture.


A) aphanitic
B) glassy
C) phaneritic
D) porphyritic

6.  Rhyolite is the compositional equivalent of this igneous rock.


A) basalt
B) andesite
C) granite
D) diorite

7.  Select the phaneritic rock which is composed mainly of quartz and potassium feldspar from the list below.


A) basalt
B) andesite
C) granite
D) diorite

8.  Sedimentary rocks ________.


A) may contain fossils



B) hold important clues to Earth's history


C) may be economically important

D) all of the above

9.  Metamorphism may result from ________.


A) heat

B) pressure
C) chemical action
D) all of these

10. Which of the following changes may occur during metamorphism?


A) Certain minerals may recrystallize.
B) The rock becomes more compact.


C) Crystals may grow larger.


D) all of the above
11.  The texture of an igneous rock ________.


A) is controlled by the composition of magma
B) determines the color of the rock


C) is caused by leaching



D) records the rock's cooling history

12.  Igneous rock is formed ________.


A) by the weathering of preexisting rocks
B) by changes in mineral composition


C) at great depth within Earth


D) by crystallization of magma

13. Detrital sedimentary rocks are classified primarily on the basis of ________.


A) color
B) type of bedding
C) composition
D) particle size

14. Sedimentary rocks comprise approximately ________ percent of Earth's outermost 10 miles.


A) 5
B) 15
C) 30
D) 50

15. Which rock type is associated with a high-energy environment (such as a very turbulent stream)?


A) conglomerate
B) shale
C) chert
D) none of these

16.  Compaction would probably be most significant as a lithification process for ________.


A) shale
B) sandstone
C) conglomerate
D) breccia

17. The most abundant chemical sedimentary rock is ________.


A) limestone
B) dolomite
C) chert
D) rock salt

18.  Metamorphism may result from ________.


A) heat

B) pressure
C) chemical action
D) all of these

19.  ________ is a planar, parallel alignment of different mineral bands in a metamorphic rock.


A) Rock cleavage
B) Foliation
C) Stress streaking
D) Marbleizing

20. The primary agent of contact metamorphism is ________.

A) folding
B) heat

C) stress
D) strain

21. The geothermal gradient represents:


A) The earth’s temperature decrease with depth


B) The earth’s temperature increases rapidly at depth greater than 1000 km and decreases slowly at the surface.

C) The earth’s temperature increases rapidly from the surface and slowly increases after 1000 km of depth

D) a uniform temperature increase form the surface (lithosphere) to the mantle (earth’s interior)

22. Differential pressure describes:

A) Pressure is equal in all directions when applied to rock material


B) Pressure is uniform and rock material is squeezed at various depths


C) Pressure exerted on a beach ball sitting at the bottom of a pool.


D) Pressure is variable and is applied in different strengths to rock material.

23.  Chemical weathering typically breaks down gabbro or diorite bedrock material into


a.  mechanically weathered material

b.  proactive minerals



c.  felsic and mafic minerals


d.  clay minerals

24. Residual or “insitu” soil describes


a.  transformational type soils

b.  soil formation of underlying bedrock


c. relict or soil profile erosion

d.  transported soil similar to soil on Mars

25.  The process of weathered rock material being removed and transported elsewhere is described by:


a.  disintegration and decomposition of rocks and minerals brought to the Earth’s surface


b.  erosional agents such as wind, water and ice


c.  residual regolith weathered into clay


d.  a combination of  processes involving leaching (horizon E), eluviation, and mass wasting

26.  Assume that water filling a crack in a rock undergoes cycles of freezing and melting. Which of the following statement is true?


a.  Water expands as it melts, causing the crack walls to be pushed apart.


b.  Water contracts as it freezes, causing the crack walls decrease in space.


c.  Water stinks and sinks, causing the cracked walls to seal.


d.  Water expands as it freezes, causing mechanical weathering of the rock structure 
27.  From the land surface downward to the unweathered bedrock, which of the following is the correct order of the different soil horizons?


a.  mixed organic and mineral matter, clay zone, bedrock, zone of leaching, organic matter


b.  zone of leaching, mixed organic and mineral matter, clay zone, organic matter, bedrock


c.  organic matter, zone of leaching, bedrock, clay zone, mixed organic matter and minerals


d.  organic matter, mixed organic and mineral matter, zone of leaching, clay zone, bedrock


28.  Using the soil classification triangle above, what is the soil type given the following percentages ( 25% sand, 20% clay, 55% slit)?


a. medium sand
b. silty loam
c. silt
d. silty clay loam
e. none of above

29.  Using the soil classification triangle above, which of the following percentages describes a sandy clay loam?


a. 40% silt, 20% clay, 40% sand
b. 80% silt, 10% clay, 10% sand


c. 60% sand, 10% clay, 30% silt
d. 60% sand, 10% silt, 30% clay

30.  Which statement best describes slumping, a mass wasting process?

a.  a mass of soil or regolith becomes saturated with water and suddenly flows downhill to the base 
     of the slope


b.  soil creep is the dominant process


c.  blocks of hard bedrock rapidly slide downhill

d.  unconsolidated regolith material slides downhill along a curved slip surface under the influence 
     of gravity

31.  Which mass wasting process has the slowest rate of movement?


a.  slump
b.  soil creep
c. rock fall
d.  rock avalanche 

32. As an erosional process, how is mass wasting unique from wind, water, and ice?


a. Mass wasting affects particles of all sizes whereas the others affect only smaller particles.


b. Mass wasting affects much larger geographic areas than does wind, water, and ice


c. Mass wasting is activated by the force of gravity alone.


d. All of the above make mass wasting unique compared to wind, water, and ice.

33. All of the following are possible indicators that creep is occurring except for ________.


a. an extremely thick soil profile

b.  tilted fences or power line poles


c.  curved tree trunks



d.  cracks in roads or sidewalks

34.  Chemical weathering is sped up by acids.  The most common natural acid on the Earth’s surface is _____



a. nitric acid
b. carbonic acid
c. hydrochloric acid
d. carbon dioxide acid
35. Which of the following is NOT an example of chemical weathering?



a. dissolution of calcite




b. breaking rock into smaller pieces that accelerate chemical weathering
 



c. breakdown of orthoclase to form kaolinite




d. soil rich in mafic minerals converted to iron rich clays

36. Under dominant chemical weathering conditions, which rock would most likely weather         faster



a. granite
b. quartzite

c. shale

d. limestone

37. What powers the hydrologic cycle?

a. Solar energy
b. mantle convection
c. radioactive decay
d. all of these

38. The general process by which rock, soil, or unconsolidated material moves downhill is called ____



a. slumping which is influenced by water

b. erosion (wind, water, ice)



c. liquefaction





d. mass wasting

39.  How do geologists classify mass movements?

A. by the speed of the mass movement

B. by the nature of material

C. by the nature of the movement

D. all of these

40. Which of the following is the most important “trigger”  in causing mass movements?



a. water content

b. pressure
c. soil temperature
d. composition

41. Chemical weathering is sped up by acids.  The most common natural acid on the Earth’s surface is _____



a. nitric acid
b. carbonic acid
c. hydrochloric acid
d. carbon dioxide acid

42. Soils that are considered relatively newly formed are regarded as __________ soil types



a. Alfisols
b. Inceptisols

c. Verisols

d. Entisols

43. Parrie soils found in the mid areas of the United States are referred to as



a. Spodosols
b. Verisols

c. Andisols

d. Mollisols

44. The order of soil representing the San Jouquin Valley is



a. Alfisols
b. Gelisols

c. Ultisols

d. Aridisols

45. Carbonic acid will typically reduce _______ minerals to ___________ deposits



a. quartz/silica rich clay

b. orthoclase/kaolinitic clay



c. iron type/kaolinitic clay

d. clay/silica rich quartz

46. Which geologic situation below best describes a mass wasting event?


a. water saturates a hill slope and portions of the hill move down slope


b. water freezes in rock cracks and breaks the rock into smaller pieces


c. granite is weathered and orthoclase mineral convert into the mineral kaolinite 



d. a major earthquake along the San Andreas Fault

